A2 E A (A DB/ %7 2)

A L A ) (2] - 29
wopvy S0 | 2R | AT NERE 2 4% Ao} 20119(A) | 2010d(B) | Z%(A-B)

) 7,659,644 4,883,021 2,776,623
& 7,659,644 4,883,021 2,776,623
SodEZET S 7,580,715 4,502,323 3,078,392
AAAH & 9,170 6,810 2,360
TAAALH 9,170 4,210 4,960
TLQAA B AL 4,170 3,300 870
1. LAY T2 3,210 2,300 910

7b 2T ARG FFA 2,300

D) $9eE 210-01 |20,0009] X 10%= 200

2) Eu) Ay 210-05 |7,00091x 157 x 209 = 2,100

U FE w A A 910

D) $9eE 210-01 10,0009 X 7%= 70

2) Eu)aln] 210-05 |7,00091 % 6% X 209 = 840
2. QAL AE) 9 432 960 1,000 A40

7}h WAL 1 8] 960

1) #2492 210-06 20,0009 x 61 x 23] = 240

2) ¥2l3| 230-02 20,0009 % 9% x 43] = 720
FYEEI ST 5,000 0 5,000
1. =W AL ZEA 5,000 0 5,000

7b g E BAE A B G E A ] 2,000

1) $98= 210-01 [20,000€9 X 30% x 23] = 1,200

2) EA5 210-06 45,0009 % 41 x 43| = 800

g B A A AR ] 3,000

) $98E 210-01 |20,0009] X 10% X 58] = 1,000

2) MAHSY 210-06 40,0009 X 10 X 53] = 2,000
AF-q5TEX Y 427,157 537,931 £110,774
e B B R 20,030 20,800 AT70
JAPAEMMNERF 18,230 17,600 630
1. A ad LR F 18,230 17,600 630

b A3 2hA) o s b A kbR 210-12 |18,230,00091= 18,230
R & X A | 1,800 0 1,800
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A e R (9] - )

wg A% @A AT PRSI LS w_ = NESE 2011¢(A) | 20104(B) | Z7(A-B)
I & I & K R R - - o
L. 2525 HAYLLILAZ AL 600 0 600
7 . A T & Y A 3| AL 210-06 |30,0009) x5% x 48] = 600
2. 2T AFAFLFAT 1,200 0 1,200
7k WA FAS 1,200
1) ¢z 210-01 |20,0009) x 20%= 400
2) A=A 210-01 |6,0009 X 100%-= 600
3) QUL 210-06 |100,0009 x 2= 200
s AR 6,200 52,300 £46,100
TAZA A 1,300 1,300 0
1. ZASFAHAA D 1,300 1,300 0
7h WA AFEA Y 1,300
1) $94=% 210-01 |20,0009 x 15%= 300
2) ¥9l3 230-02 |20,0009 x 107 x 53] = 1,000
Zz g =3 4,900 26,000 A21,100
1. PR ¢ 4,900 0 4,900
7h A ERF A3 1,000
1) $98=% 210-01 |20,0009 x 3% = 60
2) A aA 2 210-01 |4,0009 X 50% = 200
3) €93 230-02 | 20,0009 x 377 = 740
LI EARA S R e R 3,900
1) g% 210-01 |20,0009 x 27%= 540
2) A=A 210-01 |8,600€ X 100%-= 860
3) ¥ol3 230-02 |20,0009 x 1254 = 2,500
FEALZSEF 18,070 9,700 8,370
28+ 8% 2] 9 18,070 4,600 13,470
1. R ATH A% 3,000 2,600 400
7t 25 AR A% 220-01 |20,0009) x 159 x 108] = 3,000
2. AR YR 12,880 2,000 10,880
7h 2o AR 7,480
1) 258ssA 210-01 10,0009 X 100% % 28] = 2,000
2) AFRX AT 210-01 |10,0009 X 100%-= 1,000
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A} (k9] : 2191)

?}2 ﬂ;:r Aol el A= AFZ ) o 20119 (A) | 20104(B) | Z7Z(A-B)

3) &8rgE o) 220-01 20,0009 x 69 x273] = 3,240

4) AApZ=Tr 210-06 |30,000€) %69 x 73] = 1,240

U S dd" A 5,400

) eodeE 210-01 20,0009 X 15%= 300

2) AAEF 210-06 |30,000¢ x 217 x 38]= 1,880

3) #AsZ o) 220—-01 |20,000€ x4 X 297 = 2,320

4) ¥ol3 230-02 20,0009 %9 x 53] = 900
3. A FARAR LT 1,200 0 1,200

7} F=ABHEA 210-01 12,0009 X 100%= 1,200
4. FRFAA AL D 990 0 990

7b T el 990

1) AAES 210-06 [30,00091 x 107 x 23] = 600

2) 9|3 230—-02 20,0009 X 107 x 23] = 390
AR TSATI LA 1,000 1,500 A500
DI AFA T3 A A 1,000 1,000 0
L Z A3 A0 AL 1,000 1,000 0

7}, a3 S 3) 240-01 |500,000¢ X 2473 = 1,000
frolzS3 % 10,552 6,000 4,552
FALLEAYLIA A 10,552 6,000 4,552
. X9 a8 3RS 54 2,752 500 2,252

7}, Go}akn) x| = A 7 220-01 |47,0009 x 273 x 88] = 752

L A AL S 2,000

1) $98= 210-01 |20,0009 x5% x 33]= 300

2) d18 210-01 |14,0009 x 321 = 450

3) AE212) 210—-01 |5,00091 X 100%-= 500

4) ARPGAS 750

7h 71 210-06 |100,0009 X 3% x 28 = 600

W) =3 210-06 |50,0009l x 3% = 150
2. AL AL HHTIAAAZNLEFEAE 3,800 1,800 2,000

7b A" gAY 600

1) &3 230-02 20,0009 X 157 x 23] = 600
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R

s Ayl %A% ey 20119 (A) | 20104(B) | Z7H(A-B)
. FokgA o st n G a A AR T 1,000
1) A7t 210-01 |6,0009 X100%= 600
2) HESD 210-06 30,0009 x 1394 = 400
o FA AT RS 1,000
1) L98% 210-01 20,0009 x5%= 100
2) AFEels 210-01 |5,0009 X 100%-= 500
3) AHIALT 400
7h 718 210-06 |100,000¢! % 11 x 23] = 200
W} x3} 210-06 50,0009l x 1% = 50
) 9ug 210-01 14,0009 x10v)= 150
2}, akA Q4 210-01 12,0009 X 100%= 1,200
3. X424 Y 4,000 3,000 1,000
7b. B 7 A G A A 620-03 4,000,00091 x 174¢= 4,000
k-3 600 600 0
Fu&LdAd 600 600 0
L. S5 93e9 600 600 0
7} EF A S ARG 210-06 |20,00091 107 x 33]= 600
o A w484 3} 67,400 10,400 57,000
AT HLIA Y 67,400 10,400 57,000
1. ALK BA Y 64,000 10,400 53,600
7F A nSLdEYy 210-01 [10,000,0009 x 687 = 60,000
U AT I A RS TR TR 4,000
1) &9¢% 210-01 20,0009 x5% x 103]= 1,000
2) A 210-06 30,0009 X904 = 2,700
3) Muke] g5k 210-06 20,0009 x 159 = 300
2. A LA L 3,400 0 3,400
7h SALEEIA Y 3,400
1) £98F 210-01 20,0009l X 62%= 1,240
2) A 210-06 30,0009l x 587 = 1,740
3) E2u]aln) 210-05 |7,0009 X 307 x 23] = 420
%843} 45,916 47,620 21,704
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A3} (9] - A
o | A RENE R HERE 20114 (A) | 20109(B) | Z%(A-B)

EX=snS§AY 1,960 5,660 A3,700
1. ==& 39d 1,960 5,660 A3,700

7h MAZ Y5 =E 2] 880

) eodex 210-01 |20,0009) X 18%= 370

9) By Aln) 210-05 |7,0009 X304 = 210

3) A}k 210-06 |20,0009 x 15 = 300

L AbolH S 5-2of 3] 2 < 1,080

1) $98¢= 210-01 |20,0009 x5% x 23]= 210

2) ELujAly 210-05 |7,0009 %107 = 70

3) A 210-06 |20,00091 X 107 x 43] = 800
ST ENBTAIF A 43,956 41,960 1,996
1. AbA Q1 AH)] 43,956 41,960 1,996

7} AHE = 620-03 21,978,000 = 21,978

U, 9y 620-03 |21,978,000¢= 21,978
PDEXSEEY 13,293 41,400 A28,107
Jol g S5 11,800 23,000 A11,200
1. 2591529 Ad 2,000 0 2,000

7h ol =S 3 2,000

D o9dexE 210-01 20,0009 X 23%= 460

2) AFEn) 210-01 |100,0009 X 5% = 500

3) AAG 210-06 |20,000¢ X 261 = 520

4) & 93] 230-02 |20,00091 X 13% x 28 = 520
2. 5 nHFEIAL 9,800 0 9,800

7h oA SARAL A AL 7,700

D g9 w3 1,300

b e 210—-01 (20,0009 X 5% x 33]= 300

) 3ol 3] 230-02 |20,0009 X 10% x 58 = 1,000

2) 7 et 6,400

h Sl eE 210-01 20,0009 X 25%= 500

v A=k 210-01 10,0009 x 120%-= 1,200

oh) A 210-06 |70,0009x10%= 700
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13} GRIE L)

o )=
o | A Ayl %A% RENE 20119 (A) | 20104(B) | Z7H(A-B)

2h) Z7}ApA ] 310-01 |7,0009 x 2007 x 23] = 2,800

nl) 7= A = 310-02 |15,0009 x 407 x 23] = 1,200

. Gl ol vl A 2,100

1) 9938 210-01 |20,0009 x 15% x 23] = 600

2) Az A 210-01 |5,0009 x40%-= 200

3) 893 230-02 | 20,0009 x 659 = 1,300
AT WAL 1,493 1,400 93
Ao TALS 1,493 1,400 93

7}, QoI B 2w AL @ X 9 1,493

1) Aol zpe 21007 100,00091 % 113]= 1,100

2) 9lojul Z=ukn) 310-02 40,0009 x 53] = 200

3) 998 210-02 19,3009 x 10%= 193
Bt g BA A Y 37,482 20,763 16,719
G eS| 22,032 16,023 6,009
1. $A3 R 2499 19,832 16,023 3,809

7}, ghaa 8wz 9017 19,832

1) o 110-03 42,2909 x 3129 = 13,195

2) AX}FIFRAM) 110-03 42,2909 %159 = 635

3) HA= 320-04 |13,829,0009 x1/12= 1,153

4) ZuldT 32004 |13,829,0009 X 4.5%= 623

5) &K 320-04 |13,829,0009 X 1.3%= 180

6) A 1 3 320-04 |13,829,00091 X 1.0%= 139

7) A 795 110-03 |5,2869 X 617k x 12391 = 3,907
2. FET A 2,200 0 2,200

7t G A 2,200

1) 99383 210-01 |20,0009 x50%= 1,000

2) WZul) A 8-A) K1) 210-09 100,00091 X129 = 1,200
AT Y 5,450 4,740 710
1. 347832 5,450 4,740 710

7h B nF AT 1,500

1) Log= 21001 20,0009 x 15%= 300
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A e R (9] - )

wg A% @A AT PRSI LS w_ = NESE 2011¢(A) | 20104(B) | Z7(A-B)
TlOA A A B o - ! = = °
2) A7k 210-01 [10,0009 X 100%= 1,000
3) ARALE 210-06 |100,0009 x 2= 200
L S FA S s 3,950
D xS 210-01 |20,0009 X 40%= 800
2) AMEzEE 210-01 20,0009 X 40%= 800
3) Az ukzk 210-01 |20,0009 X 100%= 2,000
4) A 210-06 20,0009 X 5% x 23] = 200
5) AN 210-06 |30,0009 x5 = 150
e 782 ¢ 10,000 0 10,000
1. 48 %Y 10,000 0 10,000
7}, Wb o A k93 620-03 |10,000,0009) x 134 = 10,000
HE 7 A LAATHEY 6,228 3,500 2,728
A e A A o) 3 6,228 3,500 2,728
IR g s R e 3,228 1,500 1,728
7h. 3 X vy 3] 3,228
1) $98=% 210-01 |20,0009 x 75%= 1,500
2) A 210-06 20,0009 X 367 = 720
3) Eujan) 210-05 |7,0009 x36% x43]= 1,008
2. A3 LY 3,000 2,000 1,000
A R e e R R R 62003 150,000 x 203L= 3,000
A& a3t 157,000 171,700 A14,700
AS TS AAHEIAL 1,000 500 500
1. A8 TS 1,000 500 500
7}, A A g 210-01 20,0009 x 50%= 1,000
S oA BA A Y 156,000 171,200 215,200
R e 156,000 171,200 215,200
7t SAFEED 136,000
1) 258w 620-03 |400,0009¢ X 150% = 60,000
2) Z8w 76,000
7H 34 620-03 400,000 x 1509 = 60,000
W) A 620-10 |400,0009 x40 = 16,000
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o (9] - Q)

o )=
o | A N 5% HE 20119(A) | 20108(B) | 2% (A-B)
v 7 20,000
1) &4 310-01 |540,0009 X104 = 5,400
2) TH2H] 310-01 |7,0009 x 207 x 60 = 8,400
3) THEE 310-01 |260,0009 X 10%= 2,600
4) 9] 620—03 300,0009 x12¢= 3,600
EHEFA 4 10,770 12,480 A1,710
o] Ho)| E3=A| 5,450 5,500 A50
1. oo g7 d g AFH 5,450 5,500 A50
7} ool AL 5,450
1) &98% 210-01 [20,000€ X30%&= 600
2) THRAF 210-01 |1,000€ x 5000 = 500
3) ] 210-01 |20,0009 x 1409 = 2,800
4) A=A E ) 310-01 |150,000¢ x 8% = 1,200
5 U&= 210-07 |350,0009 x13]= 350
degdsgAdst 5,320 6,980 A1,660
1. A5 3 5,320 6,980 A1,660
7}, ol sk 8] 1,820
RS E 210-01 20,0009 X 40%= 800
2) A 210-06 |20,0009) X517 = 1,020
U A EZEI s 54 3,500
1) 98+ 210—01 [20,0009 X 20%& X 53]= 2,000
2) & 210-01 |20,0009 x 25%= 500
3) A} 210-06 | 20,0009 X 507 = 1,000
TP EA = 23,560 6,700 16,860
& Z e o AR = 3,560 6,700 23,140
1. BEAEA A 2,560 2,360 200
7} AR A 220-01 |20,0009 x 87 x 103] = 1,600
U St o AEA = 220-01 20,0009 x3™ x163]= 960
2. A EH AL FAEA & 1,000 1,340 A340
7t WAFA S 1,000
1) &98&% 210-01 [20,0009 x15%= 300
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A e R (9] - )

ng BF | wR AR Ayl Bz PSP 20119 (A) | 20104(B) | Z7H(A-B)
LA | A | A T o - - oo
2) AU}t 210-06 (70,0009 %57 x 23] = 700
AN IFLFA A 20,000 0 20,000
1. AAN TS TEA Y 20,000 0 20,000
b AR R EIYIE 2,000
1) ARbPAALFT 210-06 |100,0009 X 10 = 1,000
2) &3 230-02 20,0009 x 257 x 23] = 1,000
v FEJEASMNEE Y 2,160
1) MEREE 210-01 |60,0009 x 8™ x 23]= 960
2) oo F 21001 20,0009 x10%= 200
3) =}l 21001 10,0009 x 100%-= 1,000
ot Fole s 1,640
1) 27412 210-01 10,0009 x 100%= 1,000
2) 9o 210-01 20,0009 X 6% x 28] = 240
3) AAEE 210-01 50,0009 x8%F= 400
2 A RgdEAE 210-01 |80,0009 x 10%= 800
n}, & 9] 3] 230-02 20,0009 x 15 x 33]= 900
S ) Y s E RRE A 620-03 |500,0009 x 253 = 12,500
8315 7} 2 1,800 2,800 A1,000
23w eIFst 1,000 2,000 21,000
1. 97}t g A4 A} 1,000 2,000 A1,000
7h 2 uedE L 1,000
1) $99% 210-01 (20,0009 x10%= 200
2) o3 230-02 20,0009 X 207 x 23] = 800
TP BE7t 800 800 0
1. G755t u g QAL 800 800 0
7}, F s a8 7t 800
1) $oex 21001 20,0009 x10%= 200
2) AApZ=e) 210-06 |30,0009 x 47 x 35| = 360
3) &9 3 230-02 20,0009 x4 x 33 = 240
g BT 7,256 7,256 0
FSaFA RSB 7,256 7,256 0
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A e R (9] - )

s I s B B e Abd 2= NES 20119 (A) | 2010d(B) | =7 (A-B)
T A]’ﬁ A]’ﬁ A]’ﬁ = = =) Q= = qut gl PR =!
1. 2T RAFATFL IR Y 7,256 7,256 0
7b S A @7 e ke 7.256
1) AAA g R 210-01 |5,600,0009 x 13]= 5,600
2) WA == Al 210-01 |10,0009 x120%= 1,200
3) A YY) DA 210-06 |20,0009 x18% = 360
4) $938% 210-01 |8,0009 x12%= 96
T 2P ae B 4,873,994 2,445,344 2,428,650
FAA 4 2,019,994 2,254,725 A234,731
ALEZAZ AR Y 1,674,315 1,351,116 323,199
1. AAEZ2AYZ4X¢ 1,674,315 1,351,116 323,199
7}, 253w 620—03 9009 x1,6209 X180 = 262,440
Y, =8ty 452,475
1) 3¢ 620-03 |1,250€x1,592% x180L = 358,200
2) AFH 620-10 |1,2509 X419 X180 = 94,275
t} 15t 959,400
1) =29 620-03 |2,5009 x1,554% X180 = 699,300
2) A+ 620-10 |2,5009 x578% x 180 = 260,100
AFAH ST ==L AEXY 102,697 74,952 27,745
1. 187324 102,697 74,952 27,745
7F 2 Y 620-03 |879x841% x 1802 X 10%= 1,317
U xS8km 37,005
1 =4 610-01 |99 Xx536™W X180 X10%= 955
2) 39 620—03 1999 x 20,2307 x 180 X 10%= 36,050
o} =aw 33,363
1) =29 620-03 1739 x8,592% X 1802 X 10%= 26,755
2) A 620-10 |1739x2,122% x 1802 X 10%= 6,608
gt 15stw 30,698
1) =29 620—03 1869 x5,679 X180 X 10%= 19,013
2) A 620—10 1869 x3,490™ X180 X 10%= 11,685
n}, E48 314
1) 3¢ 620-03 |1549x113% X180 X 10%= 314
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A e R (9] - )

wy AR AR Apejuy el B PSS 20119(A) | 20104(B) | 2% (A—B)
TOARY AFA AHA B B B - B = = °

EfstnFAedxd 30,150 46,242 A16,092
1. ESsta L9249 30,150 46,242 A16,092

7} 8k 11,700

1) 29 620-03 |1,2509 X474 x 180U = 10,575

2) A 620—-10 |1,2509 x5 x 180U = 1,125

U, 158w 18,450

1) =29 620-03 |2,5009 X374 x 180U = 16,650

2) A 620—-10 12,5009 x4 x 180U = 1,800
EAX AR T FA 212,832 277,290 A64,458
1. EAX G2 234 212,832 277,290 A64,458

7} 25 n (=Y 610-01 [900€¥x5367 x180Y= 86,832

=8k 36,900

1) 29 620—-03 |1,250491 %1359 x 1804 = 30,375

2) A 620—10 |1,2509 %299 x 1804 = 6,525

t} 15t 89,100

1) 29 620—-03 12,5009 x126™ x 1804 = 56,700

2) AFd 620—-10 |2,5009 X729 x 180U = 32,400
AESEXERA Y 2,854,000 190,619 2,663,381
AEEX SN2 Q 2,854,000 190,619 2,663,381
1. IS EX XX F= Y 2,854,000 190,619 2,663,381

7 WEEA -4 2,769,000

1) #4k(151) 620—03 |1,714,000,0009= 1,714,000

2) A (9m) 620—03 |1,055,000,000¢ = 1,055,000

v WSEA] 94 A4 DAY 85,000

1) ZEAEZAAA 1] 35,521

7h A% 110-03 11,902,0009 x 129 = 22,824

) A&7 R A 110-03 62,5319 x10Y= 626

o ®A=+ 110-03 {30,200,7209 % 1/12= 2,517

2 A 320-04 |29,574,7209 X 4.5%= 1,330

u}) LR E 320-04 |29,574,7209 X 1.3%= 385

up) AR E 320-04 |29,574,7209 X 0.8%= 237
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a3} (gl A9

o =]
?};3 ﬂg PR ERPUEE EE 20119 (A) | 20104(B) | Z7HA-B)
AH AR 320-04 |29,574,7209 X 2.7%= 798
o) w17 QYR 320-04 |798,5209 X 6.55%= 53
2H 2425 110-03 11,7209 X48A)12kx 129 = 6,751
2) T5EAA -0 10,000
7 L9eE 210-01 |20,000€ X 25 x 48] = 2,000
W) Aszt 210-01 20,0009 X 400%-= 8,000
3) AP A 7,640
b s 210—01 |10,0009 X 70%-= 700
W) Al e 4 210-06 |100,0009 x 103]= 1,000
th WERAFEAF 1700

(1) =}=gn) 210-13 |400,000€ x 2tf= 800

(2) 21 210-05 |7,000€1 X903 = 630

(3) 7+21m) 210-01 |3,00091 X908 = 270
2h) AubAE 210-06 |100,000¢ X 30A1k= 3,000
) L9 L= 210-01 |20,0009 x31% x 23] = 1,240
4) A ArY-¢F o8| FA 5 21006 |70,000¢l x 8 x 43]= 2,240
5) A A1H9-% 9,054
7hH Em Al 210-05 |7,0009 x5 x80Y = 2,844
) Sedu] 4,710

(1) a3 A% 220—01 [20,0009 x4 x5138]= 4,080

(2) Aluupal 3] o) =4 220-01 |70,000 x 37 x 38| = 630
th 893 230-02 |20,000€9 X 157 x 53] = 1,500
6) SFRITFAT 2,700
7hH L98E 210-01 /20,0009 X 15%= 300
) QJulgAps=cr 210-06 |100,0009 x 4= 400
th A s 210-01 |10,0009 x 2007 = 2,000
7) SotSEEEA 3,200
H L= 210-01 20,0009 X 63%= 1,250
W) gj#a 210-01 |300,000€ x13]= 300
th Foja x| 210-01 |1,500,0009 x 14= 1,500
b Z7FApA ) 310-02 |5,0009 x 308 = 150
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23} GRIE L)

o | A RERE 5% e 20119(A) | 20104(B) | Z7(A-B)

8) =AM THTEAY 6,600

N SAdeE 210-01 |20,0009 x 65% x 23 = 2,600

) A 210-01 |300,0009 x 12]= 300

th A ulere-odn] 210-01 |200,0009 x 107]= 2,000

2h) 2 Z A 2 210-01 |700€ x 1,0000 = 700

mh) AREH] 210-01 |50,0009 X 20% = 1,000

9) AH-EAFS 800

7h) BAES 210-01 |10,0009) X807 = 800

10) Sl 7,245

1 S eE 210-01 |5,0009 x 49%= 245

) 1uh2e] s 310-02 |70,0009¢l X 100% = 7,000
FA/HSEE 2,270,394 1,449,256 821,138
BART 10,150 12,550 22,400
734 9 A A 10,150 10,150 0
1. 3aH=E94g 500 500 0

7t E%—’Fé‘ﬁ/‘}ﬂ] 500

1) A571AE 20,000¢1 X 2531 = 500
2. 8z I_Wzs]]?il-%xjﬂ— 9,650 9,650 0

7h Sl 389 9,380

1) Fa2=gt 70,0009l X 147 x 93] = 9,000

2) & 2] 3 20,0009 X 197 = 380

W AsredA R - AA 270

1) SHEghEo =y 20,0009 X 774 x 23] = 270
2,204,494 1,363,706 840,788
SaFA LI 5,360 2,560 2,800
1. FA TS HH G 5,360 2,560 2,800

7h. Bt A A A A A 1,680

1) $ojgx 20,0009 X 10% x 38] = 600

2) ARPALS 660

7hH 71& 210—06 [70,000€ x 2 x 33]= 420

W) %3 210-06 40,0009 x 27 x 33]= 240
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GRIE L)

9] Al - A < == A5 AHEU S 20119 (A) | 20104 (B) | TH(A-B)
AFA AHA

3) Y= 210-01 |14,0009 x 304 = 420
[ IS R RS R vl 3,680
1) BAAF= 210-06 |50,000¢ x 3 x 83]= 1,200
2) A=44 220-01 20,0009 X1091= 2,180
3) 9l 230-02 20,0009 x15%= 300

Sty FA 7| LN LG 2,183,048 929,998 1,253,050

1. St FA 7 FLAA LT 2,183,048 929,998 1,253,050
7h A A g 1,282,408
D) A= EIEER) 277,675
70 A Am] 420-02 |265,668,0009 X 3.8%= 10,095
) A]AdH] 265,668
(1) =84 420-03 |1,490,0009¥ X 169m' X 60%= 151,086
(2) A4 420—03 [1,130,000¢9 X 169m' X 60%= 114,582
th Al E ] 420-05 |265,668,0009 x0.72%= 1,912
2) AT 2 (FREE) 292,296
7hH A A 420-02 |279,790,0009 X 3.75%= 10,492
) A]AdH] 279,790
1) =84 420-03 [1,490,0009 X 135m' X 60%= 120,690
(2) A3 420-03 |1,130,0009 X 2200 X 60%= 149,160
3) EEEAA 420-03 |1,420,0009 X 7m= 9,940
th ARy 420-05 (279,790,000 X0.72%= 2,014
3) TAEFE 18,841
71 A 420-02 |17,880,0009 X5.376%= 961
) A 420—03 [1,490,000€9 X 20m' X 60%= 17,880
4) dH = 243,519
7H A AN) 420-02 226,860,0009) X 6.623%= 15,025
L) A]AdH] 226,860
(1) x84 420-03 [1,490,000¢ X 140m' X 60%= 125,160
2) A3 420-03 |1,130,000€ X 150m X 60%= 101,700
th A FEH] 420-05 |226,860,0009 X0.72%= 1,634
5) F¥x 48,820
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A S == A5 AU S 2011 (A) | 20109 (B)
71 A4 48,820
1) W=r 420-03 [8,960,0009 x 34 = 26,880
(2) AR 420-03 10,970,00091 x 22 = 21,940
6) PA= 12,000
7h Al 420-03 |200,000€ X 60m= 12,000
7 AATS= 41,035
71 A)4dH] 41,035
(1) HAAFA} 420—03 [47,1009 X681 m'= 32,075
(2) B=3FAL 420-03 [8,960,0009 x 14 = 8,960
8) TANEE 186,425
7H A A4 420-02 |177,512,0009 X3.598%= 7,564
L) A]AdH] 177,512
(1) =94 420—03 [1,490,0009 X 148m' X 60%= 132,312
(2) By A== 420-03 |1,130,0009¥ X 40m'= 45,200
th Al E ] 420—-05 |177,512,000€ X0.72%= 1,349
9) AAFTSS 6,882
7H A122H] 620—04 93,0009 X 74m'= 6,882
10) Ak 59,456
7h A A 620-04 |58,778,00091 X 1.16%= 678
L) AlAdH] 58,778
(1) g AdnteeA 620—04 61,0009 x198m'= 12,078
(2) =A7FAQ14] 620-04 46,700,000 x 14 = 46,700
11) FAHAIY 3L 73,283
71 A AN 620—11 |69,629,0009 X5.24%= 3,654
L) A]AdH] 69,629
(1) AxaAZz= 620—11 1,420,0009 X 40m'= 56,800
(2) A 620-11 |92,30091 X 139m'= 12,829
12) TAbsdar 22,176
7h A)AdH] 620-11 |61,6009 X 360m'= 22,176
v AR s F A7) e 350,206
1) =53t (21w) 430-01 |350,206,000¢= 350,206
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A R s (9] - )

2 N i AT A S S ArEU S 20119 (A) | 20104 (B) | =#(A-B
AR | A | A i T st = - SRR

th =32 7T A 550,434

1) 258w (231) 620—-04 |267,875,0009= 267,875

2) =g 177,140

7hH &9 (71) 620-04 |155,713,000¢ = 155,713

) AR (23) 620-10 |21,427,0009= 21,427

3) 15w 105,419

7hH ¥ (4x) 620-04 |65,873,0009= 65,873

W) AH (23) 620-10 |39,546,0009= 39,546
FAFA A AR X A 16,086 431,148 £415,062
1. F4FA AN A Y 16,086 431,148 £~415,062

7F A1 An| A1 Y 7,830

1) g1 En 620-01 |45,0009 X297 x 6] = 7,830

v gl aan x4 8,256

D g gy (2% 620—01 |43,0009 X307 x 6 = 7,740

2) A8 (55 620-01 |43,0009 x 2% x 6= 516
Z+EA S I S F 55,750 73,000 A17,250
AF23A S 3 13,700 6,000 7,700
1. A723A50 3 13,700 6,000 7,700

7F A= A3 A S 13,700

1) Z474n) 310-01 53,500€ X507 x43]= 10,700

2) A2 310-01 |200,0009 % 158 = 3,000
71 EbA S ) 5 42,050 67,000 24,950
1. 718t S & 42,050 67,000 24,950

7h At B 8 5,500

1) ZA7n 310-01 |30,0009 x50 = 1,500

2) A4AH 310-01 |200,0009 x 109 = 2,000

3) A=ASU s A4 310-01 |200,0009 % 10% = 2,000

v S 7l ol 8] 6,250

1) ¥S7371E 471 310-01 [25,0009 x50 X 33]= 3,750

2) DAAS S Ed781] 310-01 |20,0009 x50 x 23] = 2.000

3) AEAY 310-01 |100,000¢1 X580 = 500
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GEE

)=]
ﬂ;j: AF el AP -1 A= 2011d(A) | 2010d(B) | =

= RTA SRR 21,300
D 7303 4,800
h Sl eE 210-01 |100,0009 x 20 = 2,000
) Algkgetk 210-06 [30,00091x 107 x 2% = 600
th 2k 210-01 |150,00091 x 24] = 300
2} z3 210-01 |150,00091 x 24] = 300
np) =3 210-01 |500,0009 x 12}= 500
vl o 7] x| Fulu} 210-01 (500,000 x 12} = 500
AP 227 210—-01 |300,000¢) X 2% = 600
2) %708 2,000
7H -3 g=E 210-01 |100,000€ X 30%= 3,000
) At 210-06 |30,0004 x 107 x 29 = 600
3) 4t 8l 25900
H SdeE 210-01 |100,0009 X 20%= 2,000
) Aok 210-06 30,0009 x10%= 300
4) otz 708 2900
b L8 210-01 |100,000¢) X 20%= 2,000
W) Ageg 210-06 30,0009 %10 = 300
5) &7t 2600
h Sl eFE 210-01 |100,0009 X 20% = 2,000
) Aasd 210-06 30,0009 x10% x 2% = 600
6) BB =08 800
h Sl eE 210-01 |300,0009 X 10%= 3,000
) Agkssct 210-06 |30,0009 X607 = 1,800
7) 1SR I Ae = 310-01 |45,0009 x 107 x 28] = 900
ek, S ARA S 8 8,000
1) $98= 210-01 |200,00049 X 10% x 23] = 4,000
2) ZAAN 310-01 [20,0009 X109 x 33]= 600
3) A} 210-06 |30,00091 % 10% x 35 = 900
4) AFE) 210-01 |250,000¢1 X 109 = 2,500
i}, 245 A 5 o 3 1,000
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AT WA A (9] - A
= 1=}
wopry 13 | 23| AT Aol 5% AE 20119(A) | 20104(B) | F%(A-B)
1) A2 310-01 |50,000¢1x10% x 28] = 1,000
oS At 78,929 127,307 748,378
AL PAAH 27,600 66,800 £39,200
A5A A7 A 4,000 3,200 800
FodEAY=A 4,000 3,200 800
1. FLAFAETHE 4,000 3,200 800
7L FLAFAE D 210—01 10,0009 X 200%= 2,000
Al T A B 2 g vl 210—-01 |10,0004€l X 200%= 2,000
AEZAZTH 7,000 9,500 22,500
ZSERIEXY 3,000 5,500 22,500
1. A5 RGPELTL 3,000 5,500 22,500
7h AR S A A A Y 3,000
1) S99= 210-01 |20,0009 X 6= 120
2) Ak 210-01 |2,7009 X 400%- % 23] = 2,160
3) E2ufj A ] 210-05 |7,000€ x 129 x5 = 420
4) AETS 210-06 |30,0009 x10% = 300
YA AL 3] 4,000 4,000 0
1. Z84Y 304 4,000 4,000 0
7h, ARS8 4,000
1) £98= 210-01 |20,0009 X 20% x 53] = 2,000
2) olm] 210-01 |2,0009 X 500%-= 1,000
3) Y@ 210-07 |400,0009 x 13]= 400
4) S8 210-06 |200,0009 x 3% = 600
TS HAA B3} 3,000 37,549 A34,549
B e R e R 3,000 26,974 £23,974
1. 3R A LA 3,000 26,314 £~23,314
7 ARAR ALY 3,000
1) SA R 210-01 |150,0009 X 10%= 1,500
2) $9LE 210—-01 |20,0009 X 75%= 1,500
SR g u =) & 3o g 13,600 16,551 22,951
AGFEAFAEN IR 13,600 14,600 21,000
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A e R (9] - )

I I I e PRSIL == RENE 20119(A) | 20108®B) | Z7(A-B)
TOARY AFA AHA B B - B - = °r

1. st g8/ 3= ¢ 13,600 11,600 2,000

7F S Aol 3] 8- 3,600

1) $98= 210-01 |20,0009 X 7% % 103]= 1,400

2) AP 210-06 |100,0009 x 27 x 23] = 400

3) WA 7F 210-01 |10,0009 x 180% = 1,800

v ol e A 6,000

1) $98= 210-01 |20,0008x11% %108 = 2,200

2) =9 310-01 |10,0009 X307 x 43] = 1,200

3) A71A53 1 2,600

7h o eE 210-01 |20,0009 x 35%= 700

) ol n] 210-01 |5,000€ X 200%= 1,000

o oe 210-07 900,000 x 13]= 900

o}, ShR- R Tk 3 4,000

1) $98F 210-01 |20,0009 x50%= 1,000

2) y#aE 210-07 |1,000,000¢ x 13]= 1,000

3) 7 E EAF 310-01 [100,000¢ %108 = 1,000

4) o1z 210-01 |5,0009 X 200%= 1,000
X 51,329 60,507 279,178
7] 2291 51,329 60,507 29,178
A LA 7| EPFH] 51,329 60,507 279,178
1. BA 7122340 43,704 49,888 76,184

7}, w5 R Y v 43,704

1) Yrken] 11,184

7H 4G 210-01 [1,200,0009= 1,200

) A 210-01 |416,0009 x 249 = 9,984

9) E2uj A 210-05 |210,0009 x 247 = 5,040

3) B9 =xn] 230-01 |350,0009 x12¢ = 4,200

4) o) 220-01 |920,0009 x 24 = 22,080

5) AT Z=7n) 250-02 100,0009 x 12¢ = 1,200
2. 71 B A 7,625 10,619 £A2,994

7t AR N (e A e 2 7,625
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A e R

Z o )=
By ?}Zj 3;3 ﬂg NEEE 2 A= e 20119 (A) | 20104 (B)
1) FFE 430-01 |882,0009 x5t)= 4,410
2) X HE 430-01 |590,000¢ x3tf= 1,770
3) FUH 430-01 |240,0009 x5¢]= 1,200
4) A3E7) 430-01 49,0009 x50]= 245
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AZ 2R oA (X o 3/2 % 7] 9)

|22 (9] D)
o | A Arg1ped 2= ] 20114 (A) | 20108(B) | 24 (A-B)

A 48,710,946 56,526,637 27,815,691
48,710,946 56,526,637 27,815,691
A 47,925,854 55,989,864 A8,064,010
A4 21,905 9,100 12,805
A5z 73) 15,905 2,600 13,305
AT FARTFEHA 15,905 2,600 13,305
1. AR FFId3UnSEd 15,905 2,600 13,305

7h AT A T A 15,905

1) &98% 210-01 20,0009 X10%F%x53]= 1,000

2) A5 A 210-01 |5,0009 X 100% x 23] = 1,000

3) AFoIn] 220-01 |47,0009 %295 = 13,905
A FFAAALEE 3,000 3,000 0
AGFELAA A Y 3,000 3,000 0
L A Fddrrag A4 3,000 3,000 0

7t QAR A 8 A 3,000

1) 712 210-06 [70,0009 x 109 x 33]= 2,100

2) =7} 210-06 |30,00091 % 10% x 38 = 900
DA AEX A7 A2 3,000 3,500 A500
AA53 329 3,000 3,500 A500
1. A 5539 3,000 3,500 A500

7}, A= S 3 S 240-01 |1,500,000€ x 27)= 3,000
F83A4 1,264,166 766,705 497,461
AFGAEAA 1,264,166 765,805 498,361
LIRS R = S RE SR 1,264,166 765,805 498,361
1. 2SR THAFZA A 695,682 465,743 229,939

7V, FAA I A B 210-12 |695,682,0009= 695,682
2. 28w AR ¢ 568,484 300,062 268,422

7V, FAA I B 210-12 |568,484,000¢= 568,484
A/ASEF 17,568 19,544 A1,976
a4 & 17,568 19,544 A1,976
EIRTASEA R -l o e S B 17,568 19,544 A1,976
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s AN B A 20119 (A) | 20104(B) | Z4(A-B)

1. 8t 52 02 73 ) 17,568 19,544 A1,976

7} F2A1x} o v) 210—10 [2,928,0009 x 6= 17,568
37,026,848 22,308,520 14,718,328
G 27,711,005 14,195,095 13,515,910
Bt 7| Ee-gu| XY 26,258,176 12,537,280 13,720,896
1. S 7| &g 26,258,176 12,537,280 13,720,896

7F x4 620-02 |1,498,059,000¢= 1,498,059

U 2538y 620-02 |17,652,778,0009 = 17,652,778

t} Fskw 620—02 |7,107,339,0009 = 7,107,339
A8t w7 A ] 826,000 0 826,000
1. A w7l A n| A Y 826,000 0 826,000

7k W7 u] () ) 726,000

1) F=2&x 430-01 |385,000,000¢ = 385,000

2) A% 430-01 |341,000,000¢ = 341,000

v 7w B () ) 100,000

1) F2&x% 620-03 |50,000,000¢ = 50,000

2) n A= 620-03 |50,000,000¢ = 50,000
I R 626,829 662,375 A35,546
1. A=A Y 70,000 72,930 22,930

7}, 8} 310-01 |160,00091 %289 x 107} = 44,800

(B2 DAREI AR 620-03 |8,400,000€ x 3= 25,200
2. 2| Ax ¢ 556,829 589,445 232,616

7}, B A2 (9th) 210-10 |82,177,0009 = 82,177

U AAWALRE 620-03 41,167,000 x 10t = 411,670

t}. oA = o ujol A n]| 620-03 16,998,000 x 9 = 62,982
AFEHA A =] Y 9,315,843 8,113,425 1,202,418
QAN AR AT Z 7,521,817 7,369,129 152,688
1. QAN AR AT R Z 7,521,817 7,369,129 152,688

7} el An =Y 620-08 |7,521,817,0009= 7,521,817
LN AR D TR Z 1,794,026 744,296 1,049,730
\1, LA AR AT R Z 1,794,026 744,296 1,049,730
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(9] - )

AFA U < A5 ArEU S 2011d(A) | 20108 (B) | 4 (A-B)

7}, 8w 7] B8] 620—-09 |1,794,026,000¢ = 1,794,026

S AN 9,595,367 32,885,995 223,290,628

438,013 287,322 150,691

THS WAL EE 438,013 167,322 270,691

1. AFEA| A 293,043 53,600 239,443
7} AbE S 293,043
1) AAm] 420-02 |277,760,0009 X 4.658%= 12,940
2) AN 277,760
7hH AFEx 420-03 15,500,0009 x 124]= 15,500
W oHEx 420-03 |56,220,0009 X 3% = 168,660
hH dee= 420-03 31,200,0009 X 3%E= 93,600
3) A n) 420-05 277,760,000 X 0.843%= 2,343

2. ZAFEAN= 144,970 0 144,970
7h AL S5 144,970
1) SAkx 144,970
7hH A AN 420—02 137,408,0009 X 4.670%= 6,417
) AlAdn] 420—03 137,408,0009 x 124]= 137,408
o) AR 420-05 |137,408,00049 X 0.833%= 1,145

9,157,354 4,095,204 5,062,150

ARSI AHANAAILEZ 9,079,734 4,069,304 5,010,430

1. A7 A A NMA 757,070 83,122 673,948
7} 2 A A 22,462
1) A]AdH] 22,200
7hH #AHERS R 420-03 | 1,480,0009 X 154 = 22,200
2) Al H-on) 420-05 |22,200,0009 X 1.18%= 262
U A 676,834
1) AAm] 420-02 639,000,000¢ X 3.31%= 32,754
2) Al 639,000
7hH 5% 420-03 54,000,0009 x 124 = 54,000
W Aax 420-03 97,500,0009 x 1241 = 97,500
th AZx% 420-03 197,500,0009 x 124]= 97,500
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(] A 9)

o )=
o | A N 5% HEv e 20119(A) | 20108(B) | 2% (A-B)
2 9% x 420-03 |97,500,0009 x 14 = 97,500
) Fdx 420-03 |97,500,0009 x 12]= 97,500
2] DI =t 420-03 197,500,000 x 14 = 97,500
AP D&% 420-03 97,500,000 x 124 = 97,500
3) ATt 420-05 |639,000,0009 x0.795%= 5,080
o, AlekgESA 43,501
1) AlAdn] 42,900
7H yEex 420-03 260,000 X 40kw= 10,400
W xR 420-03 |260,0009 X 30kw= 7,800
h AlA =z 420-03 |260,0009 X 15kw= 3,900
2h) AAEx 420-03 260,0009 X 20kw= 5,200
uh) A% 420-03 |260,0009 X 20kw = 5,200
vh) 420-03 |260,0009 X 20kw = 5,200
AD ek x 420-03 [260,000€ X 20kw= 5,200
2) A5 420-05 |42,900,0009 X 1.40%= 601
2t = A A 14,273
1) AlAdH] 14,107
7h & 420-03 1,050,00091 x 114 = 11,550
W) v Ex 420-03 |2,530,0009 x 14 = 2,557
2) A F-on] 420-05 |14,107,0009 X 1.18%= 166
2.9 - EAEANA 1,616,857 25,580 1,591,277
7Fo - Al A 1,616,857
IR e L PN ] 1,555,767
7h AlAdH] 1,543,680
(1) A= 420-03 5,760,0009 x 404 = 230,400
(2) A¥X=x 420-03 |5,760,000¢ x 344 = 195,840
3 =3F= 420-03 |5,760,0009 x 124 = 69,120
(4) A% 420-03 |5,760,0009 x 2821 = 161,280
5) W&z 420-03 |5,760,0009 x 24 = 11,520
6) ~2¥x% 420-03 |5,760,0009 x 264 = 149,760
(7) =%4%= 420-03 |5,760,0009 x 124 = 69,120
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(2] - A )
o A=)

o | A RERE %A% o 20119 (A) | 20104(B) | Z7H(A-B)
(8) A= 420-03 |5,760,0009 x 921 = 51,840
(9) Tdx 420-03 |5,760,0009 x 421 = 23,040
(10) topd= 420-03 |5,760,0009 x 32 = 17,280
(11) tokx 420-03 |5,760,0009 x 134 = 74,880
12) FAHEw 420-03 |5,760,000¢ x 324 = 17,280
(13) "|&x% 420-03 |5,760,0009 x 92 = 51,840
(14) BletE= 420-03 |5,760,0009 x 22 = 11,520
(15) AA == 420-03 |5,760,0009 x 22 = 11,520
(16) AN Zopm] =i 420-03 |5,760,0009 x 12 = 5,760
a17) Y= 420-03 |5,760,0009 x 12 = 5,760
(18) Wbz 420-03 |5,760,0009 x 12 = 5,760
(19) €&=x 420-03 |5,760,0009 x 42 = 23,040
(20) F&x 420-03 |5,760,0009 x 52 = 28,800
(21) A== 420-03 |5,760,0009 x 72 = 40,320
(22) A9 = 420-03 |5,760,0009 x 52 = 28,800
(23) iz 420-03 |5,760,000¢1 x 54 = 28,800
(24) A== 420-03 |5,760,0009 x 12 = 5,760
(25) A== 420-03 |5,760,0009 x 62 = 34,560
(26) 9= 420-03 |5,760,0009 x 421 = 23,040
27) &= 420-03 |5,760,0009 x 32 = 17,280
(28) Yorx 420-03 |5,760,0009 x 52 = 28,800
(29) 3&% 420-03 |5,760,0009 x 32 = 17,280
(30) 3= 420-03 |5,760,0009 x 62 = 34,560
(31) Ax= 420-03 |5,760,0009 x 12= 5,760
(32) B= 420-03 |5,760,0009 x 12 = 5,760
(33) A AT 420-03 |5,760,0009 x 104 = 57,600

) A AR ) 420-05 |1,543,680,0009 X 0.783%= 12,087
2) WA 61,090
7hH A]AdH] 60,400
(1) Yxx 420-03 |3,020,0009 x 72 = 21,140
(2) Fex 420-03 |3,020,0009 x 12 = 3,020
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(] A 9)

9] Al - A < == A5 A 2011 (A) | 20109 (B) ZH(A-B)
A A

(3) =4 =% 420-03 [3,020,0009 x 54 = 15,100
4) g73x% 420-03 |3,020,0009 x 34 = 9,060
5) 8= 420-03 |3,020,0009 x 34 = 9,060
(6) FAg3}sky 420-03 |3,020,0009 x 14 = 3,020
) Al H-tin) 420-05 |60,400,0009 x1.143%= 690

WA FEA 3,388,300 592,887 2,795,413
7t v RS 838,479
1) Al 832,155
7h Ak E 420-03 18,570,000 x 184 = 154,260
W) FAHERS R 420-03 |8,570,0009 X 6.5 = 55,705
o AR = 420-03 |8,570,0009 x114= 94,270
2hH 59= 420-03 13,000,000 x 14 = 3,000
) A%x 420-03 11,700,0009 x 94 = 105,300
v EAkx 420-03 |8,570,0009 x 1 4= 8,570
b Bdx 420-03 |11,700,000¢ X 84 = 93,600
oh) MAx 420-03 [11,700,0009 X 641 = 70,200
2h sH&x 420-03 |11,700,0009 x 1.54 = 17,550
) AAE = 420-03 |11,700,0009 x 9241 = 105,300
7h abd 420-03 |30,000,0009 x 12 = 30,000
) Hotzs 420-03 |8,570,0009 x 42 = 34,280
9} Ak ar 420-03 20,040,000 x 34 = 60,120
2) Al HF-tn] 420—05 [832,155,0009 X0.76%= 6,324
RIS 1,203,451
1) Al 1,194,160
7hH AT % 420-03 8,960,000¢ x 24 = 17,920
W) FAbEskE 420-03 |8,960,0009 x 94 = 80,640
o) TAkx 420-03 18,960,000 x 24 = 17,920
Zh) GEx 420-03 |8,960,00091 X524 = 44,800
o} tjokz 420-03 18,960,000 x8.54 = 76,160
vh) AFEx 420—03 13,440,0009 X 52 = 67,200
AD EAE 420-03 [8,960,0009 x 44 = 35,840
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GO )

o | A A %A% Az 20116(A) | 20104®) | S2(A-B)
o) &H % 420-03 [8,960,0009 x 1141= 98,560
) $5% 420-03 |8,960,000¢ x 74 = 62,720
2H) Hatz 420-03 |8,960,0009 x 1341 = 116,480
I g=% 420-03 |8,960,000¢ x 14 = 8,960
e Adx 420-03 |8,960,000¢ x 34 = 26,880
) FAkz 420-03 18,960,000 x 54 = 44,800
3h A== 420-03 |8,960,0009 x 1A= 8,960
7)) AT 420-03 |8,960,0009 x 14= 8,960
) Aok 420-03 |110,000,0009 x 141 = 110,000
o) Hal= 420-03 8,960,000 x 14 = 8,960
7)) 7Aoo = 420-03 |8,960,000¢] X 34 = 26,880
o) AFa 420-03 |8,960,0009 x 154 = 134,400
H) FAAlE 420-03 18,960,000 x 124 = 107,520
A) AR 3 420-03 |8,960,0009 x 104 = 89,600

2) A]AE ) 420-05 |1,194,160,000€1 X 0.778%= 9,291
o}, A5 WA 348,464
1) A4 345,630
7D Az 420-03 |7,370,0009 x 1221 = 88,440
) &2z 420-03 |7,370,0009 x 34 = 22,110
th) AR % 420-03 |4,660,0009 x 34 = 13,980
) 2A4x% 420-03 |7,370,0009 X 641 = 44,220
n}) wWekz 420-03 |7,370,0009 x 1421 = 103,180
EARNE-ES 420-03 |7,370,0009 x 1 4= 7,370
AP A=k 420-03 |7,370,0009 x 94 = 66,330
2) A A E ) 420-05 |345,630,0009 X 0.82%= 2,834
2t B ES o) T A 392,986
1) AJAH] 389,790
7} thokx 420-03 960,0009 x 424 = 40,320
W 8% 420-03 960,0009 x 3441 = 32,640
) &bz 420-03 960,0009 x 124 = 11,520
) Fox 420-03 960,0009 x 941 = 8,640
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GO )

o | A RN 2% RENE 20114 (A) | 20104(B) | Z2(A-B)
) Hekx 420-03 |2,220,0009 x 134 = 28,860
vp) FA4kx 420-03 |960,000¢ X 94l = 8,640
AP AAEx 420-03 [960,0009 x1.5%= 1,440
oph A% 420-03 |2,220,0009 % 3.5 = 7,770
2 X EZ% 420-03 2,220,000 x 162 = 35,520
) 5% 420-03 12,220,000 x 62 = 13,320
7hH Hstx 420-03 |2,220,0009 x 174 = 37,740
Ep) A S 420-03 |2,220,0009 x 182 = 39,960
b)) A 420-03 |2,220,0009 x 274 = 59,940
3 A (WA ZE) 420-03 |960,0009 x 324 = 30,720
A) AA L (FEEo]FH) 420-03 1 1,260,0009 x 264 = 32,760
2) Ao 420-05 |389,790,000€ X 0.82%= 3,196

ul QWM 160,291
1) A Am] 420-02 152,040,000€) X 4.521%= 6,874
2) AlAdH] 152,040
7h JekE % 420-03 |8,145,0009 x 24 = 16,290
W) A S 420-03 |5,430,0009 x 12 = 5,430
o) AR ES 420-03 |5,430,0009 x 242 = 130,320
3) Al H-t8] 420-05 |152,040,000¢ X0.906%= 1,377
vE AR 292,029
1) AAH] 420-02 282,090,000€) X 3.74%= 7,626
2) Al 282,090
7H A% 420-03 112,450,000¢ x 64 = 74,700
) Ak S 420-03 |5,720,0009 x 74 = 40,040
th oly= 420-03 |140,000,0009 x 12 = 140,000
2}) ksl 420-03 |5,470,0009 X524 = 27,350
3) Al o] 420-05 |282,090,000¢ X0.82%= 2,313
AL AERT 152,600
1) AlAdn] 151,220
7h vlEx 420-03 |1,180,0009 x 14 = 1,180
W) Az 420-03 [1,180,0009 x 114 = 12,980
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)

i RERE 2= RESE 20119 (A) | 20108B) | Z7(A-B)
o 5% 420-03 |1,540,0009 x 124 = 18,480
) FAEYE 420-03 [1,540,0009 X774 = 118,580
2) Al HF-tn] 420—05 [151,220,00091X0.912%= 1,380

4. FAMNA 2,497,864 2,287,459 210,405
7t s 2,382,803
1) A Am] 420-02 |2,304,550,000€1 X 2.68%= 65,400
2) A 2,304,550
7hH FAbESx 420-03 75,380,000 x 24 = 150,760
W JYxEw 420-03 |75,380,0009 x 1= 75,380
) djokx 420-03 |75,380,0009 x 22 = 150,760
gh) Hikx 420-03 |75,380,0009 x 221 = 150,760
) A% x 420-03 1,090,000 x 42 = 4,360
Hp) 2% 420-03 75,380,000 x 24 = 150,760
AD FAR X 420-03 54,000,0009 X 72 = 378,000
oh) A SF 420-03 |75,380,0009 x 14 = 75,380
Z}) AR T 2 420-03 75,380,0009 x 24 = 150,760
2} A= 420-03 75,380,000 x 621 = 452,280
b FARAE S 420-03 |75,380,0009 X 3.5% = 263,830
Eh) AAF 420-03 |75,380,0009¢ x 42 = 301,520
3) Al Eon] 420-05 |2,304,550,0009 X0.557%= 12,853
15 -1 S S R 115,061
1) AAA 3 115,061
7h A AH] 420-02 108,600,000 X 4.964%= 5,391
) AlAdn] 420-03 |108,600,0009 x 14 = 108,600
) A En] 420—-05 |108,600,000¢ X0.884%= 1,070
5. FEAAAA 213,715 122,913 90,802
7}, S I A 109,065
1) AlAdn] 108,000
7H A2Ex% 420—-03 |11,000,000¢ X 37H 2= 33,000
W AYx 420-03 |11,000,000¢ x 17 4= 11,000
o MEs 420-03 |11,000,000¢ x 37} 4= 33,000
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GRIE L)

?-?4 A AR A A 20114(A) | 20104d(B) | SH(A-B)
A AHA
oh) FAPE seta 420-03 |15,500,000¢ x 27] 2= 31,000
2) Al Hoju] 420-05 [108,000,00049 X0.986%= 1,065
b A3k w A 40,472
1) Al 40,000
7hH 28x% 420-03 5,000,000 X 62 = 30,000
) A= 420-03 10,000,000 x 1= 10,000
2) A H-tn] 420-05 |40,000,0009) X 1.18%= 472
= s R 33,389
1) AlAdn] 33,000
7hH EE% 420-03 |33,000,000¢ x 1th= 33,000
2) Al H-tn] 420—05 |33,000,0009 x1.18%= 389
2t o A 21,238
1) AlAdH] 20,990
7hH FAEHEE 420-03 20,990,000 X 17} 4= 20,990
2) Al HFoju) 420-05 120,990,000 x1.18%= 248
vl 2 vl 3w A 9,551
1) Aldn] 9,440
71 AA 420-03 |118,000¢ X 80m= 9,440
2) Al Eon] 420-05 |9,440,0009 x1.18%= 111
6. F-EHNA 288,389 289,891 A1,502

7h AR 2R 55,841
1) Al 55,200
7hH TAHETE = 420-03 40,0009 x1,170m'= 46,800
wh AR 420-03 40,0009 X 210m'= 8,400
2) Al Eon] 420-05 |55,200,0009 x1.161%= 641
wh v EAl A 140,544
1) AlAdn] 139,250
7hH thokx 420-03 200,000¢ X 400m= 80,000
W) AAx 420-03 [200,0009 X 261m= 52,200
o 4% 420-03 |200,0009 X 15m= 3,000
b A= 420-03 |30,000€ x135m= 4,050
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(5] : 29)

[e) 1=}
o | A AN R E SERE 2011 (A) | 2010M(B) | % (A-B)
2) A K] 420-05 |139,250,0009 X 0.929%= 1,294
o A 14,934
1) Al 14,760
71 3EE 420-03 |360,000€ X 20m'= 7,200
W HatE 420-03 |360,0009 X 21m'= 7,560
2) A B n) 420-05 |14,760,0009 X 1.18%= 174
2, E% A 11,656
1) Al 11,520
7hH Az 420-03 80,0009 X 144m= 11,520
2) Al x-u)n] 420-05 |11,520,00091 X 1.18%= 136
EI =S AP S] 65,414
1) A|Adn] 64,200
7h 84 % 420-03 |330,000€ X 80m= 26,400
W) 1A= 420-03 |270,00091 X 140m= 37,800
2) Al X)) 420-05 |64,200,0009 X 1.89%= 1,214
7. AN AEEE 296,291 158,000 138,291
7h w2 dE oA 296,291
1) AAm 420-02 |281,970,0009 X 3.74%= 12,009
2) A1) 281,970
S S 420-03 |62,660,0009¢1 x 1 4= 62,660
W) 8= 420-03 162,660,000 x 1.5 = 93,990
o bz 420-03 |62,660,0009 x 141= 62,660
2}) AEe] o] 3 420-03 |62,660,0009 x 14 = 62,660
3) A K] 420-05 |281,970,0009 X 0.82%= 2,312
8. AslzAA 21,248 0 21,248
7V, FFerER A 21,248
1) A|Adn] 21,000
7hH A S 420-03 |70,000¢1 X 300m= 21,000
2) Al xu)n] 420-05 |21,000,0009¢ X 1.18%= 248
AR LTSS AN L E= 77,620 25,900 51,720
1. ZARFA 67,620 0 67,620
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R cA)
bu ﬂ—;’g PNESETS == A& 2011d(A) | 20104 (B) #(A-B)
7}, 915 7 A 55,920
1) FArd = 620—11 |4,660,0008 x 122 = 55,920
L Al 11,700
1) A= 620-11 |11,700,000¢ % 1= 11,700
CFEAAAA 10,000 10,000
7h S el w ) a Al 10,000
1) FAA = 620—11 |10,000,0009 X 17} 4= 10,000
3 Ay 212,952 0 212,952
212,952 0 212,952
BATSEY AL 205,980 0 205,980
ARSI Y 5,700 0 5,700
L BARSEZ2 ALY 5,700 0 5,700
7 BANSEZE LY 5,700
1) $98= 210-01 |20,0009¥ x15% x1138]= 3,300
2) ANAFALST 310-01 |200,0009 x1% x128]= 2,400
BAsFFA 280 280
1. B3 =5A 280 280
7}, A A 3hs 2= A 2} 220-01 |70,000€ x 47 = 280
AR =R PR PR S Er - 200,000 200,000
1. FAAEH 224 200,000 200,000
7}, Bl Aol An) A 610—01 |200,000,0004¢ % 13] = 200,000
FASGEALAATFLY 6,972 6,972
FAsEFEA ALY 500 500
1. BASSEA ZAAANY 500 500
7} B AT A E 0] 3] 230-02 |500,000€9x13]= 500
O PP k) 6,472 6,472
1. 22499489 850 850
A SR it B R 850
1) $98=% 210-01 20,0009 X 15%= 300
9) 2}a]z=t} 210-06 |70,00091 X 5% = 350
3) 93 230-02 20,0009 x 10 = 200
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7 e
o} o A H -
A AT PRSIRE == RES 20114(A) | 20104(B) | Z#(A-B)
AFA AHA

2. AW EALFTLIAY 5,622 0 5,622

7}, sh A 2 X = of ) 220-01 [20,000€9 x5 x303]= 3,000

v s H wHF A RA A 900

1) A4te 210-01 |5,0009 X 60%-x 28] = 600

2) So9gx 210-01 |20,0009 X 15%= 300

oo vgaHEedHs 210-02 |1,870€ X600 = 1,122

2}, Wt E A w57 34 310-01 |30,0009 x 28 x5 x 23] = 600
S Aur 572,140 536,773 35,367
s o] v} 219,992 174,063 45,929
AR MR 42,350 5,350 37,000
A a-&dPA Y 42,350 5,350 37,000
1. ¥ X437 SEEA L 42,350 5,350 37,000

7t AS A A E oS T2 40,000

1) AFzdeJED A 420-03 40,000,0009 x 14 = 40,000

U At E w3 A A 3] 2,350

1) A=A =2 210-01 |7,0009 X 100%= 700

2) Logx 210-01 |50,0009 x17%&= 850

3) 93 230-02 20,0009 x 20 x 23] = 800
ZHA g 2,050 7,680 A5,630
R FA R 2 2,050 0 2,050
1. FAAF YA TR ST 2,050 0 2,050

7F F9365! M gk 2,050

1) #FXed 210-06 |70,000€ X109 x23]= 1,400

2) So98x 210-15 10,0009 x 25%= 250

3) o3 230-02 20,0009 x 109 x 23] = 400
s =R 1,774 2,881 A1,107
ERN = ! 874 1,441 A567
1. ZSBF A 2B 874 1,441 A567

AR = PAP AR = 210-02 [22€9x1,0004 x12¢€= 264

[ B | Bt B S R R 210-06 70,0009 x 3 x 18] = 210

1= R R =S PN e 210-06 |100,0009 x 17 x 23] = 200
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7} (9] - )

?}2 ﬂfg Apel el R AESEL 20119 (A) | 20108®B) | Z7(A-B)

2}, DA H] A A0 8 F 210-01 |20,0009 X 10%= 200
SEEszA 900 1,440 AB540
1. sr&Zola e 900 1,440 A540

7t gEsotE A 900

1) 8r&Zoly 210-01 |100,0009 x 28 x 33| = 600

2) o7& 9] 3] 210-01 |100,0009 x 1 ¥ x 38] = 300
ISP YARTY | ZEHE 89,052 65,137 23,915
X 89,052 65,137 23,915
1. 7|3 ERERAREL 77,038 54,463 22,575

7F 71 5= A A1 1] 77,038

1) el7n] 110-03 (49,4309 x4 x 313 = 61,887

2) Ax}F 7R A 110-03 [49,4309 x4 x15%= 2,966

3) HAAYZ 320-04 |64,853,0009 x1/12= 5,932

4) w2 320-04 |64,853,0009 % 4.5%= 2,919

5) 14K 320-04 |64,853,0009 % 1.3%= 843

6) AbA 13 320-04 |64,853,0009 X 1.0%= 649

7) AR 320-04 |64,853,0009 X 2.84%= 1,842
2. 715 BA A I B 10,674 10,674 0

7}, A AEF-R] B 3,174

1) H/W 210—09 [14,985,0009 X8%= 1,199

2) S/W 210-09 |6,500,0009 X 15%= 975

3) AN GA B 210-09 |250,0009 x 2t} x 28] = 1,000

U, &) 430-01 |7,500,000¢ x 1tj= 7,500
3. ARTACY 1,340 0 1,340

7h 71E 57 1 d 3 A e 210-06 |70,000¢l x41d= 280

| R R e e RO R e 1,060

D A3 1,000

7h 71E 210-06 |70,0009 x5 x 23] = 700

W) 23} 210-06 |30,0009 x5 x 24| 7t= 300

2) $-olgx 210-01 |20,0009 x 3% = 60
Tl QW 3 A A H| AT 1,640 2,384 AT44
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(9] - )

s RN 2% RENE 20114 (A) | 20104(B) | Z2(A-B)

VLI Z A=A 1,640 2,384 AT44
1. NAFFA =M 1,640 2,384 AT44

7F W B2 1,640

1) 98+ 210-01 [20,0009 X61F= 1,220

2) A713 8 E 210-01 |15,0009 x 123] = 180

3) 71 210-07 |20,00091 x 123]= 240
H] g8 A & L Bk 2,120 6,340 24,220
B g8 A & L Bk 2,120 6,340 24,220
=R AE 1,600 1,600 0

A 210-01 [20,0009 xX10%&= 200

u, #Z7EAp Al b 210-05 |7,0009 x50 x4Y= 1,400
2. B tHE A Z L B e 520 4,740 A4,220

7} Aot skl 520

1) &98% 210-01 |20,0009 x5%= 100

2) Z7FARA ] 210-05 |7,0009 x 20 x 32 = 420
g 6,160 10,300 A4,140
oA 5,120 8,900 3,780
1. a5 AGAHFFA 1,400 1,680 2280

7}, S AFA A E 2 A ) 210-05 |7,0009 x4 x 259] x 23] = 1,400
2. St B AA A TFE$Y 3,000 6,000 23,000

7}, St S| A A A '] A1) 3,000

1) 98+ 210—01 [20,0009 x 13% x53]= 1,300

2) ARG 210-06 |100,000¢ x 5% x 23] = 1,000

3) §93 230-02 |20,0009 x 59 x 73] = 700
3. St 3| AT 720 1,220 2500

7}, st AR =84 220—01 [20,0009 X4 X 97 = 720
2 1,040 1,400 2360
1. 53 AZAAEE 1,040 1,400 £360

7} AARE ] E Lo 2] B) 210-05 |7,0009 X 69 x 252 = 1,040
65,918 67,891 A1,973
A Ar#E] 21,600 21,400 200
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3} (gl - A9

[e) 1=}
?};3 ﬂg Apeluj el B A o 20119(A) | 2010d(B) | 272 (A-B)

1. & - ZSAATE 5,050 4,400 650

7h T A A 5,050

1) ARGl rrR 210-01 |500,000¢ x 371= 1,500

2) EFrra 210-01 |500,000¢ x 371= 1,500

3) B8 210-01 [145,0009x103]= 1,450

4) AArEE] A E A 220-01 |20,0009 x 2% x 153]= 600
2. ¥ T AT 16,550 16,600 A50

7}, A u e A gA A 220-01 |70,0009 x 39 x538]= 1,050

v, w3 620-03 |3,100,0009] X 53L= 15,500
IESAAAGH A 44,318 46,491 22,173
1. LEA| A A G T A 3] ) 44,318 46,491 22,173

7}, A A2 A 3] ) 210-02 |44,318,0009= 44,318
A= 8 A B 3,800 6,100 £2,300
[ B B 3,800 6,100 2,300
1. WL T=A 3,800 6,100 A2,300

S R 2400

1) Eualn) 210-05 |7,0009 x5% x 209 = 700

2) oJH] 220-01 20,0009 5% x103] = 1,000

3) g2l 3 230-02 |20,0009 x5 x 73]= 700

U, EAM XS YA 220-01 |70,0009 x 57 x 48] = 1,400
EER RS R 5,128 0 5,128
FuedN e eIA 4 3,128 0 3,128
iRsESEEERD 3,128 0 3,128

7 gueg e dgas 3,128

D) A 400

7p 7] 210-06 |100,000¢ % 2= 200

W) z=3 210-06 |50,0009 x 27 x 24| b= 200

2) dua 210-01 |14,0009 x 2,54 x 24 7k= 70

3) L9 8x 210-01 |30,0004 x 25%= 750

4) AVe e 2Tk 210-06 |50,0009 x 1% = 50

5) Z7EAA 1] 310-01 [20,0009¥ X939 = 1,858
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(9] : 2 9)

o A=)
?};3 ﬂg Apeluj el B A o 20119(A) | 2010d(B) | 272 (A-B)

AEFTAZAL YA L 2,000 0 2,000
1. SRR w I g4 stA 4 2,000 0 2,000

7t S H-E w2 2,000

1) $98= 210-01 20,0009 X10%= 200

2) ;ALY 210-01 |7,000€ X 1004 % 28] = 1,400

3) QJulApS=t 210-06 |100,0009 x 47 = 400
79 77 352,148 362,710 210,562
7)1 B¢ 267,581 316,315 A48,734
TEA LA 7| £ 267,581 316,315 A48,734
1. 7] 3-89 73H] 178,119 225,047 746,928

7 . S A RS R 210-01 |600,0009 x53]= 3,000

U e a2 A Al 69,253

1) A7eH+ 210-02 |3,000,0009 x 129 = 36,000

2) Azlo 210-02 |2,083,0009 x 129 = 25,000

3) Al r e 210-02 |350,0009 x 129 = 4,200

4) $ALH 210-02 |200,0009 x12¢= 2,400

5) EAFAQE 210-02 15,0009 x129= 180

6) FARETFAT 210-02 30,0009 x 129 = 360

7) AN AR 210-02 |350,0009 x 23] = 700

8) WE SR 210-02 |350,00091 x 13]= 350

9) AYRZRAF 210—-02 |3,0009 217 = 63

th. ARk 7 v 12,030

1) ANy EFE 210-01 |14,0009 X 30% x129= 5,040

2) TAF 210-01 [49,000€¥x10¥= 490

3) 9jalx 210-01 |15,0009 10071 = 1,500

4) A AR SA KRS 210-01 |50,0009 x10& x108]= 5,000

o} EYE Y (St d g ) 430-01 240,000 x13t)= 3,000

ah Al R A B 9,300

1) 7| ZAeA KB 210-13 100,0009 x 129 = 1,200

2) W] A 1S 210-13 100,0009 x 34t)= 3,400

3) oo} AGA K= 210-13 (80,0009 X5t x 33 = 1,200
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(9] - )

[e) 1=}

?};3 ﬂg Apeluj el B AbZ) o] 20119 (A) | 20104(®B) | 27(A-B)
4) A3 Z8A RS 210-13 |500,0009 x13]= 500
5) A7|rA ANl 210—-13 250,000 x129= 3,000

uh, Ak 32,950
1) 2HRA A A 1 A 7 g0 210-13 |700,000¢1 X 13]= 700
2) H Ao 210—-13 |700,0009 <129 = 8,400
3) 2" 210-13 |500,0009 x 28] = 1,000
4) AF715-A & 210-13 |80,0009 x50 x 43]= 1,600
5) 9|4 w] L= 210-01 |70,000€ x10& x108]= 7,000
6) T2 210-09 |2,000,000¢1 x 23] = 4,000
7) HUAZSFA K 210-09 |125,0009 X 10%= 1,250
8) 7] &= gln) 210-13 |200,00091 53] = 1,000
9) HANFA T 210-09 |800,000¢ X103 = 8,000

Ab HQFEH 210-01 |1,600,000¢1 x 23] = 3,200

of. g2 FEY 16,486
1) %844 (25,000kme] ) 210-10 |8,259,0009= 8.259
2) & 453H(10,000km™] ¥F) 210-10 |8,227,000¢= 8,227

2. 4] 26,350
1) FaAu L4 210-13 |150,0009 x129= 1,800
2) GA%5T 24,050
7hH 43 210-06 |50,00091 %1169 = 5,800
h <= 210-06 |50,0009 x 3659 = 18,250
3) o2 g 210-15 |500,0008 = 500

A SAA € 2,050
1) 2 =%aak 1,050
h Sl eE 210—-01 |20,0004l X 35%= 700
W) Ezu)an) 210-05 7,0009 x50™ = 350
2) Z+EHAA Y 210-01 |50,0009 x 4F x 53] = 1,000

7h ST AdEY 210-01 |50,0009 x 5% x 28] = 500

2. 7| B F-Z=21H) 25,240 25,440 2200

7}, 71272 A ) 25,240

1) 71332 A G FF700] 250-02 400,000¢ x12¥9= 4,800
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# (%hg] - W)

o )=
o | A Arg1ped 2= ] 20114 (A) | 20108(B) | 24 (A-B)
2) 7B F%n] 20,440
7h dure]Ein) 230-01 |18,000,0009= 18,000
) A7 230-01 |40,0009 x61%= 2,440
3. BA 7| 29937 64,222 65,828 A1,606
7F etwd g E 64,222
D 7153 16,592
7} ATk 210-01 |1,200,000¢1= 1,200
) iQig 210-01 |416,0009 X379 = 15,392
2) EujAln] 210-05 210,0009 %374 = 7,770
3) Zuon) 220-01 |920,000¢] x 374 = 34,040
4) FA &G dHFFA0 4,620
7h 7]1¥(30¢10]3}) 230-01 |350,0009 x12¢= 4,200
W 7k (39309123 230-01 5,000 %79 x129= 420
5) A AL Z=2H) 250-02 |100,0009 x12¢ = 1,200
IE5FA 7| AAA 84,567 46,395 38,172
TEA DAL 84,567 46,395 38,172
1. ZEALHAA 84,567 46,395 38,172
7} AR 84,567
1) TSR A A A 420-03 |30,000,000¢ x 12 = 30,000
2) AT LHAFN A LT AAAD | 420-03 13,000,0009 x 124 = 13,000
3) A -SR] A A A & 420-03 [19,239,0009 x 124 = 19,239
4) AA AL LSA)A 420-03 [22,328,0009 x 124 = 22,328
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RESRANERIGEEVEESED

:HY
A S == A5 Az Y 20119 (A) | 20104 (B) | TH(A-B)
A 744,365 610,087 134,278
744,365 610,087 134,278
744,365 610,087 134,278
744,365 610,087 134,278
744,365 610,087 134,278
89 744,365 610,087 134,278
1. 9ol A2 L9 x 4 744,365 610,087 134,278
7h G A A 744,365
1) 1zdH] 533,267
7H 4% 57,456
(1) % 110-02 45,000,000 x 1= 45,000
(2) ANF2In) 110-02 130,0009 x12€= 1,560
(3) WEH ZH 110-02 140,0009 x12€9= 1,680
(4) ZILFST} 110-02 |8,5009 X447k x 35 = 1,175
(5) AxFF 110-02 [123,2809x15%= 1,850
(6) B2+ 320-04 |48,240,0009 x1/12= 4,020
(7) ZHlaA= 320-04 |48,240,0009 X 4.5%= 2,171
L) oAt 270,438
(1) 9= 110-02 [30,000,0009 x 6™ = 180,000
(2) 2 FFH 110-02 |25,0009 X 2A7kx 6™ X 10L = 3,000
(3) A5 110-02 [82,1919 %6 x15%= 7,398
4) §38F 320-04 [180,000,0009 x1/12= 15,000
(5) FHAF 320-04 [30,000,0009 X6 X 4.5%= 8,100
6) 2RI 320-04 |30,000,0009 x 6™ X 1.3%= 2,340
(7) AR 320-04 |30,000,000¢ X 67 X 1%= 1,800
(8) A== 310-01 [300,000¥ X6 = 1,800
9 Fx= 310-01 |2,600,0009 x 69 = 15,600
(10) £237 310-01 [400,0009 x 69 x129= 28,800
(11) =379 310-01 |1,100,0009 x 69 = 6,600
o} o H F WA} 129,833
(1) dE1248) 110-02 |25,000,0009 x 19 = 25,000
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d o raked ol A g sk 5 Al E] (5h9] - H )
)] [e) )=}
=g A0 | 2o | A Ariue] % A5 & 20114(A) | 20104(B) | F7(A-B)
(2) d&=10M8) 110-02 |2,083,33091 x4 x10¥= 83,334
(3) ZIpsgt 110-02 12,8409 x 5504 7k= 7,062
(4) AF7FR A 110-02 68,4909 x4 x 149 = 3,768
(5) HA= 320-04 |26,027,35091x1/12= 2,169
(6) =M 320-04 |25,000,0009 %59 x 4.5%= 5,625
(7) 14R3 320-04 |25,000,0009 %59 x 1.3%= 1625
(8) AA w8 320-04 |25,000,0009 X 5% x 1%= 1,250
Zh ARER 2 19,065
(1) A% 110-03 15,439,500 x 14 = 15,440
(2) 2FFTT 110-03 |7.9309 x 70417t = 556
(3) AAF7FR AN 110-03 42,3009 x 159 = 635
(4) HA= 320-05 |16,074,0009 X 1/12= 1,340
(5) = 320-05 |16,074,0009 X 4.5%= 724
(6) LR 320-05 |16,074,0009 X 1.3%= 209
(7) A w38 320-05 |16,074,0009¢ X 1%= 161
nh) WSO E 29 18,985
(1) A& 110-03 15,439,500 x 1% = 15,440
(2) I 110-03 |7,930¢ X 604 7k= 476
(3) AAF7FR A 110-03 42,3009 x 152 = 635
(4) A= 110-03 116,074,000 x 1/12= 1,340
(5) =M 320-05 |16,074,0009 X 4.5%= 724
(6) 1E13 320-05 |16,074,0009 X 1.3%= 209
(7) AR 18 320-05 |16,074,0009 X 1%= 161
vh) A A e R 37,490
(1) 9% 110-03 |15,439,5009 x 21 = 30,879
(2) =AY 110-03 |7,9309 X 604 7k= 476
(3) AAF IR AN 110-03 42,3009 %29 x 159 = 1,269
(4) HA= 320-05 |16,074,0009 % 1/12% 2= 2,679
(5) =W 320-05 |16,074,0009 X 2 X 4.5%= 1,447
(6) 1gRE 320-05 |16,074,0009 x 2 x 1.3%= 418
(7) A7 5.8 320-05 |16,074,0009 x 2% X 1%= 322
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A ol A F Sk AL e
= o A=)
nE ?}g 3;3 ﬂg NEE 2% Al 20119 (A) | 20104 (B)
2) g 79| 86,000
71 Aoy o] w A 210-01 |8,000¢ x 2,000%-= 16,000
1)) &5 o] A 210-01 |8,000¢ x 2,000%-= 16,000
o} ARFed o] WA 210-01 |16,000€ X 2,000%-= 32,000
) w5t e 210-11 |9,700¢ x 2,000%-= 19,400
) & 2] 3 230-02 20,0009 x13% x 108 = 2,600
3) 71&E-9y] 125,098
7h 71 B F-3=711] 26,971
(1) 71531 6.903
op 7189 210-01 |800,0009= 800
b A 210—01 [359,0009 %174 = 6,103
(2) Eujaln] 210-05 210,000 X249 = 5,040
(3) 7] H g FH-F=11) 230-01 |250,0009 x129= 3,000
(4) =jon) 220-01 |420,0009 X179 = 7,140
(5) WA 210-01 |224,0009 X179 = 3,808
(6) A7 ETER 210-01 [10,0009 x9F x129= 1,080
W) 33w AA 21,264
(1) A7) 9+ 210-02 [1,250,00094 %129 = 15,000
(2) Asta & 210-02 250,0009x129= 3,000
(3) Aslrro++ 210-02 100,0009x129= 1,200
(4) Q1Y EAIN] 210-02 |100,00091 x129= 1,200
B) FALEQF 210-02 10,0009 X334 x 129 = 360
6) AYR=RI 7 210-02 |3,0009 x4 x129= 144
(7) $H9F 210-02 [30,0009x12¢¥= 360
o) AR A B 28,644
(1) A28 SR B 210-09 |300,0009 x129= 3,600
(2) AF715A 210-01 [30,0009 x5 x12¢¥= 1,800
(3) F71AA 76 &an) 210-01 [42,0009 X2 x129= 1,008
(4) 3ty 210-01 |400,000¢ x129= 4,800
(5) A71¢kAFAF B & 210-01 [88,000€¥x129= 1,056
(6) FolAn) g 210-01 |340,0009 x129= 4,080
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R SR EER

B ?}g ?}2 ﬂ;:r NERE A= NEE 2011 (A) | 20109 (B)
(7) 22HhA) A Pha) g-of 210-01 |100,00091 % 129 = 1,200
(8) B o] AW GH 12 210-01 |500,0009 X129 = 6,000
OREESN 210-01 |300,00091 x 129 = 3,600
(10) 71EFA A} 7z 210-09 |100,0009! X 153) = 1,500
2} 87 24T 430-01 |1,200,0009 x 134 = 15,600
nb) AE] 87 704 420-03 |8,155,0009 x 43| = 32,619
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AZ 2R oA (X o 3/2 % 7] 9)

gAY R A oA (ko] A 9)
o G AT Abd Wi < S AU 20119 (A) | 20104 (B) | TH(A-B)
T A A R = = = °™
A 50,500
50,500
B - AJIHK 39,520
R TR 39,520
HAGEALAATEH LY 7,600
FAGFHTY 7,600
1. BASGEFATIA Y 7,600
7F A4 Ay st 210-01 |16,000,0009 x 1¥=
= A% 31,920
TEEANBREET 15,800
1. FTEABEANGSF 15,800
7F =AY 430-01 10,0009 X 2,000¢8 =
EXAAYAGAEHAEIA Y 15,900
1. gdA 845 83F 1,500
7} R ExgS= 430-01 |10,000,0009 x 14} =
2. A5 A9 A 4 14,400
7}, A BSH] 210-09 600,000 x129=
[ = G P = 210-02 |600,0009 x129=
TEEANTTIEARS 220
1. FFEA T3 PAR- 220
7F =AM H- 9 Y ] 210-01 |120,0009 x23]=
 SA A
1) *9&F 210-01 20,0009 X 10% x 23] =
2) A 210-06 |30,0009 X 1247t x 23] =
Z5dnk 10,980
71324 &2 10,980
7] &9 H] 10,980
DA LHFTFTEA B ELFY] 10,980
1. 7|24 FFHH] 0
7F. ARk
1) 714% 210-01 |800,0009 x 13=
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Hoba & A 3 k)
AF S-A= E 20119 (A) | 2010 (B) 7 (A-B)
2) /el 210-01 [359,0009] x 3= 1,077
U, E A 210-05 210,000¢ x 3= 630
o}, FA] Q¢ o] B Z=211) 230—01 100,000¢9 x12¢= 1,200
2}, = oin) 220—01 420,000€ x 39 = 1,260
u}, A M F ) K21 H] 250-02 100,000 x 129 = 1,200
2. A7) ERS-A AN 29,473 18,493 10,980
7}, A ) f A v 2,784
1) AslzH A 210—13 250,000€ x 13 = 250
2) AFZA 2 210-13 (88,0009 x23]= 176
3) A auldA 210—13 385,0009 x 13 = 385
4) v SR B 210-13 |500,000¢ x 18]= 500
5 AFESA RS 210-13 |300,00091 x 43]= 1,200
6) A57]5-A e 210-13 [22,700€¥ x129= 273
At 16,316
1) e 210-08 |1,074€1x8.5L X847k x 90U = 6,573
2) AR RS 210—-09 |593,0009 X 13]= 593
3) 71etA =y 210—-09 300,000 x 43]= 1,200
4) v A ) 210-09 210,000€ x237)= 4,830
5 FA4E&Y 210-15 |60,000¢ X 5238 = 3,120
o}, G4 e 1,800
1) FelAn g 210—13 150,0009 x12¢= 1,800
ot &3 QA A 6,365
1) A7) e+ 210-02 350,0009 x12¢= 4,200
2) Ao+ 210-02 100,0009 x12¢= 1,200
3) AL oF 210-02 20,0009 x12¥8= 240
4) SHQ W 210-02 10,0009 x129= 120
5) =473 3] 210-02 360,000 = 360
6) AYHFTHHR 210-02 |3,0009 x 3% = 9
7) A7 AA R 210—13 68,0009 x 23] = 136
8) A4714A A 210-13 25,0009 x43]= 100
v G ET S 210-01 12,0009 x7%x129= 1,008
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At < E—Al 5 A= g 20119 (A) | 20109 (B)

vl A8 g% 210-01 120,0009 x10F= 1,200
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